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English Exam model answer
Second Year Master in Sociology/Psychology

Answers:
1. The title of the text : Organizational change management (01)

2. The equivalent of each word in Arabic: - change J#4ill- management 3\~ organization dabaie
reputation daau- sales ez leadership 33L8 — team (4 — market (dsw — competitors Cpdbie-
customer (182 - employee «iliga - culture AiE- (03)

3. The opposite of each word (from the text): external zexternal- small# large- difficultz easy-

new# existing. (01)
4. The translation of the first paragraph into Arabic: (03)
S sanal) dlaall clileall a6 5ol iny aaall o) ¢ 1ol (e ga1 (A () (paadaiil) ypill 3l
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6. The factors that cause change in an organization can be either external or internal:(03)

- The external factors: such as such as technological advancements and changes in market conditions.
The emergence of new competitors, socio-politico-economic changes, and shifts in customer
preferences

- The internal factors: Changes in leadership or the company team structure, ineffective internal

communication

7. The main types of organizational change are: (03)

- Adaptive organizational change: such as upgrading software, updating the company
website, making small tweaks to an existing product in response to customer feedback and
hiring a new employee to fill an existing role.

- Transformational organizational change: such as replacing an entire team of human

workers with software through robotic process automation bots, setting up a new department,
opening a new office, and completely overhauling the company website, social media

presence.
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Organizational change management (OCM) is a type of change management framework for
managing the effect of new business processes, changes in organizational structure or cultural changes
within an enterprise. Every organization goes through changes or transitions pericdically during its
existence. '

These changes can have a significant impact on the business and its processes, company output,
people, and other stakeholders. In some cases, the impact can be negative, affecting the company's
reputation or profitability. In other cases, the changes may result in greater efficiency, additional sales or
new business opportunities.

The factors that force some degree of change in an organization can be either external or internal.
Changes in leadership or the company team structure, ineffective internal communication are examples of
internal factors that make organizational change necessary.

Change can also happen due to external factors such as technological advancements and changes in
market conditions. The emergence of new competitors, socio-politico-economic changes, and shifts in
customer preferences are other examples of external causes of organizational change.

Organizational change can be either adaptive or transformational. Adaptive changes are small
changes that address evolving needs. These changes require incremental adjustments and are usually easy to
implement. Examples of adaptive change are: upgrading software, updating the company website, making
small tweaks to an existing product in response to customer feedback and hiring a new employee to fill an
existing role.

In contrast, transformational changes are large scale as well as more difficult to implement and adapt
to. These changes might result in significant shifts in how the company operates. The organizations must be
prepared to make major updates to their business processes, culture, strategy or technology stack. Examples
of transformational change are: Replacing an eat»i;;c%}eqm\of human workers with software through robotic

process automation bots, setting up a new dep}rtm‘e opening a new office, and completely overhauling the
, % \\

company website, social media presence. /-
i1
Questions: ‘

1. Give a title to the text above.

L s
e >

2. Give the equivalent of each word in Arabic: - change - management - organization - reputation -

sales — leadership- team- market- competitors- customer - employee - culture -
3. Give the opposite of each word (from the text): external- small- difficult- new.
4.‘ Translate the first paragraph into Arabic.
5. Is the changes impact on an organization always negative? Why?
6. What are the factors that cause change in an organization?

7. What are the main types of organizational change?




